Chapter 16 Problem II (+1)




Name _____________________

1. Use Lewis (electron) dot structures to show  bonding in:

a)  H2O



b)  H2O2



c)  NH3
d) CH4



e) BF3




f)  C2H6
2. Why are H2F and H3F not possible? Use electron dot or orbital representation to explain.

3.  

	
	Orbital Representation:
	Electron dot representation:

	OF
	
	

	F2O2
	
	

	HOF
	
	

	HFO2
	
	


a) Which is the most reactive (remain reactive)? _______________

b) Which would exist as free radicals? _______________

4.  Draw electron dots for:

     a)  NH2





b) N2H4
     Which is more reactive? __________________

